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4a. The Characters

Read and listen to the descriptions of the characters in the play. Use the information to
help youwith the exercise on the next page, and then listen to see if your answers are
correct.

. Ebenezer Scrooge is about 60 years old. He worksin an office for many hours every day and return home,where

he lives alone, in the evenings. His business is

called Scrooge and Marley, but his business partner died seven years before. He is an unkind and ungenerous man.He
thinks Christmas is a waste of time and money. He hasgrey hair, brown eyes and is quite thin. He wears a dark suit to
work and a dressing gown at night. He doesn’t be- lieve in ghosts but is scared when he sees them.

. Bob Cratchit works for Scrooge in his office and is very poor. He is 32 years old and is married with five children.
Hi youngest son, Tiny Tim, is very ill and is dying. Bob cannot afford to pay for a doctor to cure hisson. Despite
this, Bob is a happy person and tries to likeeveryone. He is quite tall and slim with brown hair andeyes. He wears
old and scruffy clothes.

. Fred is Scrooge’s nephew. His mother was Scrooge’ssister, who died just after Fred was born. He is a veryhappy
person and is alway trying to cheer Scrooge up.He is married and lives in a big house in the centre of London.
They are quite rich and give a lot of money to the poor. He is of average height and bald. He is 28 years old.

. Jacob Marley was Scrooge’s business partner and hasbeen dead for seven years. Now he is a ghost that musttravel
around the world seeing things he didn’t see in life. He is very sad because he knows that he wasted

his life making money. He comes to warn Scrooge to change his way of life. He wears grey ghostly clothes and
carries a long chain.

. The Ghost of Christmas Past seems young but has anold woman'’s face. She has a light that shines out of her head.
The ghost takes Scrooge to re-visit his past life.

. The Ghost of Christmas Present is green and cov- ered in leaves. He is very jolly and quite large. He has 2000
brothers and sisters — one for every year. He showsScrooge his present life and people’s opinion of him.

. The Ghost of Christmas Future doesn’t speak andis very scary. It wears a dark cape with a hood, and
it’s impossible to see its face. It is very tall and thin. It shows Scrooge what will happen in the future if he
doesn’t change his way of life.

. Belle was Scrooge’s girlfriend when he was a young apprentice. She is short, with brown hair and blue eyes.
She is pretty, but a little shy. She loved Scrooge but believed that he loved money more than her, and so
sheleft him.

. Mr Fezziwig is about 50 years old and is a very jollyman. He is also very generous and loves parties. He
was Scrooge’s boss when he was an apprentice clerk and was very kind to him. He is married with three
daughters. On a Christmas Eve in the past he had a bigparty with musicians and dancing.

Martha Cratchit is Bob’s wife. She is short and round. She is always happy even though she is very poor.
and has very little to feed her five children. She does all the work in the Cratchit house and is often tired.

Tiny Tim is the youngest son in the Cratchit family.He is seven years old but small for his age. He tries
to be happy but is often weak, because he is dying. He loves his family very much and wants to get better
so that he can work and earn money to help the family.



4b. Who Said That?

Use the information from Activity 4a to help you decide which character said the
sentencesbelow. Then listen to see if you were correct. Three characters will not
be used.

Ebenezer Scrooge Bob Cratchit Fred Jacob Marley  The Ghost of Christmas
Past The Ghost of Christmas Present The Ghost of Christmas Future

Belle Mr Fezziwig Martha Cratchit Tiny Tim

Don’t be angry, uncle!

A man who says happy Christmas is an idiot.

No sir, | don’t want to work tomorrow, sir.

When | was alive | never travelled. | stayed in the office all the time making money.

| think you love money too much. | think you love money more than me.

| have many brothers and sisters. About 2000: one for every year.

Come. Let’s see another Christmas in your past life.

Come on Ebenezer, no more work tonight. It’s Chris




